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P3-3

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:10 278 150. 0 E BRi&e07:10 Bzl (GRAEREE)
07:55 278 150.0 5| {Ri%@07:55 B3 (FRAERSE)
08:40 278 150.0 = {RRiB008:40 B (FRFAEEE)
09:45 278 150.0 5| {Ri%@09:45 B3 (KRAERSE)
10:35 278 150.0 El 1BRi%010:35 Bz CGRAERE)
11:15 278 150.0 =l {Rige11:15 B3 (GRAERSE)
11:55 278 150.0 S| {Rige11:55 B (REAERSE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
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FHERECE (2323.0 vs 3847.0) i d5
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09:15 273 150.0 =l RRiB009:15 B (RFAKEE)
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11:35 273 150.0 =l {Rige11:35 B3 (RAERSE)
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24t 3276.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

#HEKRECE (2223.0 vs 3803.0) id5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=56 (2025-05-24)

T e g g g S g B B g g

100 A

50

200 4
150 -
100 -

50 A

VI, V%GFQRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2288

1700

494
o84 1400

Warning: lcol [FVI',| "FVO’'] missing

————— N IS I NE SR RN WERNR ERER RN SR L ERERR TR RS R EEESSESTEREER IEEESTESTESTESRSSRR ERRRRSSRRSn m——m————

T
N
o
o
o

- 1000

0
4 30

- 25

M_E

- 20

- 15

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0
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##[EKECE (2080.0 vs 3987.0) id5
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